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1. An iron pipe weighing 100 kg rusts in the air.  How much does the pipe weigh after it is completely rusted?  Rusting occurs according to the following reaction:

4Fe(s)  +  3O2(g) (  2Fe2O3(s)

2. Water is boiled on a hotplate in a lab in Las Cruces, NM.  The boiling point is measured and found to be 97.6°C?  What is the K temperature of the boiling water?

3. 46 g of Na are completely reacted with 71 g of Cl2.  How many grams of NaCl are produced?

4. How many grams of calcium metal contain 0.5 mole of Ca atoms?

5. Give the mass in grams of each of the following:
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